[ Efficiency vs vertpos |
0.02

0.018
0.016
0.014
0.012

0.0
0.008
0.006
0.004
0.002

v g

3
o

TTT[® T[T T[T T V[ TT T[T [TIT T[T

0.95L H : :
1072 107 1 10 10?

—=— DQM_TT__mkFit-DQM_orig2
Efficiend —— pQm_TT_ mkFit-DQM_mod2

0.05
0.045
0.04
0.035
0.03
0.025
0.02
0.015
0.0
0.005

J_\‘CE +|||i||||i||||I||||
e L | -
30 -20 -10 0 10 20 30

0.95!

[ Efficiency vs. sim PV z |
0.02

0.018F
0.016F
0.014F
0.012F

0.01F
0.008F
0.006F

b gt

.......

0.002F

R SR U1 B 4 0 T T U 1) 6 (0 U




	Contents
	Page 1


